
M10 x 120mm - [*]

M10 Washer

4mm Spacer (W/O Upper 
Crash Bars)

M10 Nylock Nut

[*] : REFER TO OWNERS MANUAL FOR OEM TORQUE SPECIFICATIONS



[*] : REFER TO OWNERS MANUAL FOR OEM TORQUE SPECIFICATIONS

M6 x 10mm - 10NM

M6 Nylock Nut

M6 Washer



[*] : REFER TO OWNERS MANUAL FOR OEM TORQUE SPECIFICATIONS

M6 x 16mm - [*]

[*] : REFER TO OWNERS MANUAL FOR OEM TORQUE SPECIFICATIONS

M6 Washer


